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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,375 86,044 41,056 44,988
RIRET1T 6 15 9 6
RIRET2T 27 58 28 30
AIEET3T 181 590 284 306
RIRET4T 413 979 488 491
B 627 1,642 809 833
REH 2,741 6,137 2,855 3,282
L&A 4,340 9,394 4,370 5,024
5E 2,649 5,842 2,822 3,020
B AN 1,325 2,849 1,331 1,518
BERT 1,394 1,941 943 998
BER2T 871 1516 741 775
BERST 729 1,727 839 888
B 2,994 5,184 2,523 2,661
BEXRE 279 641 310 331
= 2,184 4839 2,306 2,533
hERE 640 1,422 658 764
e 2,450 5,015 2,429 2,586
25 L ET 2,316 5,004 2,399 2,605
B &AL BT 76 150 61 89
HEFILET1T 561 1,202 559 643
HEFILET2T 612 1,273 608 665
HEZFILAT3T 673 1,509 738 771
g 1,922 4,134 1,966 2,168
B & it B Fr ET 685 1,530 739 791
BHEREBET1T 579 1,165 577 588
BHERERET2T 767 1,718 830 888
BHERERETST 804 1,598 721 877
BHERERET4T 506 918 430 488
HEKERETST 828 1,657 796 861
HEERET6T 882 1,875 912 963
BHERERET7T 891 1,844 916 928
HERERETST 72 208 102 106
£t| 5329 10,983 5,284 5,699
HEF R FET 2,014 4,139 2,024 2,115
S|EFET1T 633 1,580 787 793
S|EFET2T 777 1,744 817 927
S|EFET3 T 739 1,368 631 737
g 2,149 4,692 2,235 2,457
ERE1T 580 1,311 632 679
EIRET2T 387 1,034 509 525
EREIST 523 1,322 643 679
EIRETAT 692 1,447 643 804
EIZEIST 524 1,117 559 558
g 2,706 6,231 2,986 3,245
M EFHE 2,916 6,174 2,919 3,255
J\THET1T 35 37 17 20
J\THET2T 24 51 27 24
J\THEI3T 50 104 47 57
B 109 192 91 101
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